In the figure, line m is parallel to line n. Find the missing measurements.
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(Not to scale)
In the figure, line m is parallel to line n. Find the measure of each angle.
29. 1= 10t p g 35. 7= 113" SAT ié %“’*Ej
30. L 2=_"110° pAT 36.24 8= 110° OAT %“
10 % 11 7{3\1

31. £3=_70° pg47 37. L9=_T10° pAT

32, /4= 70° s47 38.£L10=_87° ¢A

33. £O5= *’%‘mﬁg?f 39, L11= 113° $47 > kxi 8\
34. £L6=_67° ORT 40. £ 12=_113° OAT (Not to scale)
41. No Why? Answers will vary.
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54. s line h parallel to line j? Yes Why? Answers will vary.

Mr. Slope Guy in Mathville, Florida ©
94 '




